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4.36 A A/2dipole is connected to a 50-ohm lossless transmission line. It is desired to resonate the
element at 300 MHz by placing an inductor or capacitor in parallel/shunt at its feed points,

(a) What is the reflection coefficient and VSWR of the dipole before the insertion of the
parallel/shunt element?

(b) What kind of an element is needed, inductor or capacitor, and what is its value in order
to resonate the dipole?

(¢) What is the new reflection coefficient and VSWR inside the transmission line after the
insertion of the parallel/shunt element?
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